——ÖZYEĞİN— —ÜNİVERSİTESİ

2. First Order Dif. Eq.

$$\frac{dy}{dt} = f(t,y) \quad (L)$$

Nişantepe Mah. Orman Sok. No:13 34794 Alemdağ Çekmeköy İstanbul T: 0216 564 9000 F: 0216 564 9999 info@ozyegin.edu.tr

2.1 Linear Equations; (Method of Integrating Factors

If in (1), f depends linearty on y, it is called afirst order linear eq.

To get the most general form, we replace const. a anddy = - gy +b, a,b are const.

by func. of E, dy + p(E)y = 3(E) (Pig are given)

Ex: (4+62) dy + 2ty= 4t.

(integration Netesale.co.uk (integration Net

 $(4+t^2)y = 2t^2 + C$ We'll consider on eq. of the form

dy + oy = g(t) (2) (o'is a given const., g is given f.) Multiply eg. 2 by M(t), which is not determined yet!

Went to choose MET such that the left hand side is a total der. of Mitty. But de (M(t)y)= M(t) dy + (d M(t) y)

So, dm(t) = M(t).0 (de / m(t) = 0.

dM(t) = M(t).0 Janet de Jaidt de

we will choose M(E) = et. ec = estri

—ÖZYEĞİN— —ÜNİVERSİTEŞİ

Note 3: Usually it is better to leave the sol.
in implicit form rather than trying
to solve it explicitly. Thus for non-linear eq.
solve the following eq means find the solvtion
explicitly if possible, but otherwise implicitly.

Nişantepe Mah. Orman Sok. No:13 34794 Alemdağ Çekmeköy İstanbul T: 0216 564 9000 F: 0216 564 9999 info@ozyegin.edu.tr

The right side can be express as a func. of the ration by the right side can be express as a func. of the ration and the equition only, then the equition into amount of the rational such equitions. con always be transport into seperate forms by a change of the dependent var.

Ex $\frac{dy}{dx} = \frac{y-4x}{x-4} \Rightarrow \frac{dy}{dx} =$

Let V= J/x => J= X X(X)

 $\frac{dx}{dy} = \frac{dx}{dx}(x.v(x)) = v(x) + x \frac{dx}{dx}$ From Antessie co. UK Page-42-01-2 -1 -1 -3 dv = lnx x. dx preview from => = 1 ln |v-2) + -3 ln |v+2| = ln |x|+c => - ln |v-2| |v+2|3= ln |x|4+c => ln |x|4 + ln |v-2||v+2|3 = lnc

> x4 | 4/x-2 | 1 3/x +2 = C. ≥ 1y-2×11y+2×13=C General Sol. in implicit form.

x4 | v-2 | | v+2 | 3 = C

23. Second Urder Linear Eq.

3.1 Homogeneus eq. with const. coefficients;

A second order ODE has the form

$$\frac{d^2y}{dt^2} = f(t, y, dy) \tag{1}$$

Where f is given func. Eq (1) is linear if f has the form

that is, if f is linear in y and dy. In (2), 9, 9, 9

ore given func. that do not depend on y We usually write

olly write
$$y'' + p(t)y' + q(t)y = q(t)$$
 (3)

We might also see

which can be turned into the alercopy (3) if $p(t) \neq 0$, p(t) = Q(t), q(t) = R(t) + R(t)

4 An initial-value, problem consists of a dif eq. like 1,3,4 and a pair of initial cond!

where you'yo are given we need two initial cond. couse two integrations are required. And beach integ. introduces on orbitrary cons.

The next question is whether on this infinite family. We first look at whether c, and co can be chosen to satisfy the ic; y(ta)=yo, y'(ta)=yo (2) { C, y((60) + C2 y2(to) = y0 =) The det. of the system is; (2) { C, y((60) + C2 y2(to) = y0 $N(y_1,y_2)(t_0)$ $N = \begin{cases} y_1(t_0) & y_2(t_0) \\ y_1'(t_0) & y_2'(t_0) \end{cases} = \begin{cases} y_1(t_0) & y_2'(t_0) \\ y_1'(t_0) & y_2'(t_0) \end{cases}$ If W+O, the the system 2 has a unique sol, lair, regardless of yo and yo; (3) $c_1 = \frac{y_0 y_2'(t_0) - y_0 y_2(t_0)}{y_1(t_0) y_2'(t_0) - y_1'(t_0) y_2'(t_0)}, c_2 = \frac{y_0 y_1'(t_0) + y_0'(t_0)}{y_1(t_0) y_2'(t_0) - y_1'(t_0) y_2'(t_0)}$ y((to) y'2(to) - y', (60) y (60) If W=D, then system (2) has no sol. on this yound y, have values that also make the numerators in (3) equal to 0 So if W=D, there are many initial cond, that connot be sotisfied no matter how c, and solene anosen. Y, and y2. L.
The det. w is called harmation of sal. y, and y2. L.
Wlyir preview Dane 22 The def. W is collected through of sal. y, and yz. We denote Wly, preview 22 of Wly, preview age 22 of Theorem 3.2.3 Suppose that y, and yz are two sol. of and that the initial cond. is given by g (to)= 90 y'(to)= 30 one ossigned. Then it is always pas, to choose opnst. a, and ce so that y= c, y, (t) + co ye (t) satisfies (4) and the obove initial cond. if and only if W= 4142-4142 is not sero of Go.

```
Theorem 3.2.7 (Abel's Theorem)
 If y, and ye are sol, of diff eq.
             L[y]= y"+ p(E) y'+ q(E) y=0
 where p and q are cont. on an open interval I, then the
 W(gi, ge) (6) is given by
                             - Sp(t) dt
              W(y, ye) (t) = c e c is depending on y, andy
 Further; W is either zero 4t in I life=0) or else is nevel
 Proof: y"+P(E) y1+P(E) y1=0 ~> multiply y by - yo
            41 + P(E) 40 + 9 (E) 40 -0 -7 miltiply y by 41
        ⇒ (y, y, -y, y2) + p(E) (y, y, -y, y2) = 0.
  Jet W(E) = Lw(y1, 52)(E); W'= y1, y1"-y1" y2 So we can write (3) os

write (3) os

w'+p(t) W=D, whole sale broken Linear eq.

(also seperable)

Since Previous never get of for Mt.

otherwise if c=1 2000 in 161-210 and in (61=61 Are sol. of)
 write (3) .05
Ex: Previously, we showed yith= E'/2 and yoth= E' are sol. of.
              2t24"+3Ey1-y=0, E>0.
   W (41/92) (6) = -3 E-3/2.
Prewriting the dif. eq.
        y'' + \frac{3}{2t}y' - \frac{1}{2t^2}y = 0 \Rightarrow \rho(t) = 3/2t
   \Rightarrow W(y_1,y_2)(t) = C.e^{-3/2}
 This gives the Wronskian of any poir of sol. For the particult
   sol. c is given -3/2.
```

Exi Solve the dif. eq. y"+4y1+4y=0 y=v(t)e^2t => v'e^2t - 2ve^2t = y' y"=v"e^2t - 1ivle-2t + 4ve^2t r2+4r+4=0 $\Gamma_1 = \Gamma_2 = -2 \Rightarrow y_1(\xi) = e^{-2\xi}$ [v"(t) - 4y(t) + 4y(t) + 4y(t) - 8v(t) + 4x(t)] e-2t=0 $y''(t) \cdot e^{-2t} = 0$. $y = c, te^{-2t} + c_2 e^{-2t}$ $V''(t) = C_2$ $V'(t) = C_2$ $V'(t) = C_1t + C_2$ $V'(t) = C_1t + C_2$ $V'(t) = C_1t + C_2$ v11(H) = 0 Preduction of Order Suppose that we know one solution yill, To find a second sol, latotes 31e).

To find a second sol, latotes 31e).

y'= v'(t) pr(6) vill 9. (1) + v(t) y," (t)

y"Pretly,(t) + procedure 27 (6) y (t) + v(t) y," (t) not everywhere zero, of y, v"+ (2y' + py,) v'(t)+ (y"+ py' + qy,) v(t)=0 Sub. into (1) O couse y(E) is a sal.

O couse y(E) is a sal.

I y'' + (2y' + Py) v'= 0 which is a first order eq. for v'. Once V' is found, v is found by integration and finally y This procedure is colled the reduction of order.

Hemark: Thr. 3.5.2 states that, to solve the normalingered eq. J. we must do three things 1) Find the gen. sol. of the corresponding homogeneous e Ciyi + Czyz, which is usually colled the complementary sol. and denoted by ye(E). 2) Find a specific sol. 4(t) to the nonhomogeneous eq. of ten it's referred as particular sol. 3) Form the sum of the punc. in Step & and Step 2. The Method Of Undetermined Coefficients; To find particular sol. of By"+by'+cy=g(t), we use the following table: 9:(6) £3 (A0En+ A, En-1+ ... + An) Pn(E) = 20 E7 + 2, E7-4. ... + 20 The sis the enternance of the thot more pording homes of the corresponding ES (AET+AIET-1,...+An) ext I find the gen. sol. of the corresponding homogeneous Make sure g(t) is one of the following, exponential, sines, cosines, pay nomials or sums or products 3. If g(E) = 8, (E) + 82(E) + . - + 8n(E), form n A) For the i-th subproblem assume 4:(t) according 5) find a particular sol. 4:(+) for each subproblem, then sum 4. (Elt. + 4n(t) os the particular sol.

of the full non homogeneous P.

finally, we need to impose the cond. that Y is a sol to () By. dif you-1) we obtain Y'(n) = (u, y(n) + ... + uny(n)) + (u, y(n) + ... + uny(n)) (3) To sotisfy the eq., Sub. 4 and its derivatives in (1) from (3), (6), (8), (3). Then we group terms involving y, ..., g because each y, ..., group their der. Then most terms because each y, ..., grow is a sol, to the homogeneous eq. so L[y]=0 The remaining terms $u(y^{(n-1)} + ... + un y^{(n-1)} = 8$ ((0) So we have n algebraic eq. for yi, ..., un' y'u' + -- + ynun = 0 y'u' + y' u' + - - + ynun = 0 y'u' + - - + y'nun = 0 = ((1) By solving (JL), we find vites aleres. We find un a your solving (JL), we find vites aleres. We find un a your passes of the pas where with = wig. -, ynith and wm is the det.
Obtained from w by replacing m-th column by the col. Hence a particular sol, of LL) is given by $y(t) = \int_{m=1}^{\infty} y_m(t) \int_{t_0}^{t} g(s) w_m(s) ds$ Abel's identifies Abel's identity W(t)=W(y,,-, gn)(t)=ce

Ex: Consider the func. given by $f(t) = \begin{cases} 2, & 0 \le t < 4 \end{cases}$ Express f(t) in terms of $y_0(t)$. $\begin{cases} -1, & 7 \le t < 8 \end{cases}$ We stort with f(t) = 2 which agrees with f(t). To produce the jump of 3 units of of E=4, we odd 3 u4(6) to fi(t). So fi(t)=2+3u4(t). The negotive jump of 6 units of t=7, we add -64q(t) f3(t)=2+3u4(t)-6 u7(t). Finally we odd 24g(t) F/L) = 2+344(E) - 647(E) + 24g(E). The Laplace transform of uc for c7,0 is given by. $\frac{1}{4} \left\{ \frac{1}{4} \left(\frac{1}{4} \right)^{2} = \int_{0}^{\infty} e^{-st} \, dt = \int_{0$ For a given funcient from as of the funcion of the funcion of the function of gles a transin' which gives a translation of f a dist. c in the positive + direction In terms of uclt), we can write g(t)= wclt). f(f-c) y= 40(t) f(t-c).

7.4 Basic Theory of systems of first order linear eq.

The gen. theory of a system of a first order linear eq.

$$\begin{cases} x_1' = P_n(t)x_1 + - - - + P_{1n}(t)x_n + g_n(t) \\ x_n' = P_{nn}(t)x_n + - - + P_{nm}(t)x_n + g_n(t) \end{cases}$$

$$(4)$$

closely parallels that of a single linear eq of n-th order We write system (1) in motrix notation. That is, we consider $(X_1 = \emptyset \cup 1, \dots, X_n = \emptyset \cap (E))$ to be components of a vector $\vec{X} = \emptyset (E)$.

3.(t), -, Snlt) one components of a vector 3(t);

(P,(t), --, Pnn(t) are elements of an axa matrix P(t).

Then system (1) is equivalent to

Then system (1) is equivalent to
$$\vec{x}' = \vec{P}(t) \vec{x} + \vec{g}(t)$$

$$\vec{x}' = \vec{P}(t) \vec{x} + \vec{g}(t)$$

$$\vec{y}'' - \vec{t} \cdot \vec{y}'' + (t-1) \vec{y} = 0 \Rightarrow \vec{x} \cdot \vec{0} + \vec{0}$$

A vector $\vec{X} = \emptyset(t)$ is soid to be a sol. of (2). If its components

We assume P and & are cont. on a LEGB which is sufficient sotisfy (1). to guerantec. existence of sol.

First we consider the homogenerous eq., i.e g(+)=0; $\vec{x} = D(t)\vec{x}$ (3)

We use the notation

10 spacify sol. of system. repers to the ith component of the j-th sol. The 7.4.1: If the vector functions $\vec{\chi}^{(1)}$ and $\vec{\chi}^{(2)}$ are sol. of system (3) then the linear comb. (1x"+Cex") is also a sol. for any c, and ce. (Principle of Superposition). By repeated applications of 7.4.1 we can conclude that if $\vec{\chi}^{(1)}$, $\vec{\chi}^{(2)}$, --, $\vec{\chi}^{(n)}$ ore solutions of (3), then $\vec{x} = c_1 \vec{x}^{(1)}(t) + - - + c_n \vec{x}^{(n)}(t)$ is also a sol for any constants ci, -, cn. So ever finite linear comb of sol. of (3) is 0150 & sol. The question is whether all sol, can be found in this way. Let 71) __, z'n) be n sol. of (3). And consider the motrix X(t) x(t)= Xin(t), — Xin(t) Notesale.co.uk

x(t)= Xin(t), — Xin(t) Notesale.co.uk

Previous page 2 of 94

pls. of X(t) are liment. whose cols. The zell, -, zell; The cols. of X(t) are linearly independent for a given value of t if and only if det X + D for that t. This det colled wronskipn of the n sols. Z'!! ..., Z'(n) is also denoted by W[Z'']..., Z'(n)]; W[x", --, x"](t) = detx(t) The sol. Zu, -, Zun are then Linearly independent at a point if an only if their W is not zero there. Thr 7.4.2: If the vector functions Z(1), -, X(1) are linearly independent of (3) for each spoint in the interval 2LELB, then each sol. Z-Q(L) of system (3), can be expressed as a linear comb. Q(E)= C, X'(E)+ ---+ Cn X'(E) (6)

Note that according to Inr 7.4.1, on expressions of the form (6) are sol. of (3), while by Thr 7.4.2 all sol. of (3, while by Thr 7.4.2 all sol. of (3, while by Thr 7.4.2) con be written in the form (6)

If constants a, --, on are arbitrary, 161 is called the gen. sol. Any set of sol. $\overrightarrow{X}^{(1)}$, \ldots , $\overrightarrow{X}^{(n)}$ of (3) that are linearly independent at each point in x(t) is soid to be a fundamental set of sol. for that interval.

Thr 7.4.3. If $\vec{x}^{(1)}$, --- $\vec{x}^{(n)}$ are sol. of (3) on $\alpha < t < \beta$, then in this interval $w[\vec{x}^{(1)}, ---, \vec{x}^{(n)}]$ either is identically zero, or ela

7.5 Homogeneuous Linear systems with Constant Coefficients. We'll consider

where A is a constant non matrix. We'll assume that all elements

of A are real numbers.

We'll seek sol. of the form Notes ale. Co. Where Pere exponent prace the water of one to be det.

Substituting into (1) we get

Fing into (1) We get
$$\Rightarrow \hat{q} = A \hat{z}$$

$$(A - r I) \hat{z} = 0 \quad (2)$$

where I is the identity matrix (nxn). To solve (1), we most solve the system of algebraic eq. (1). The vector is a sol. of (1) provided r is an eigenvalue and P is an associated eigenvector of the coefficent matrix A.

If the n eigenvalues are real and different, then associated with each eigenvalue is a real eigenvector of i) and the n eigenvectors au, -, gun) are linearly independent. The corresponding sol. of system (1) \(\frac{1}{\times \times \times \times \frac{1}{\times \times

tind the Bein o $\chi = \begin{pmatrix} 0 & 1 & 1 \\ 1 & 0 & 1 \end{pmatrix} \chi$ We need to solve $(A-nI)\vec{e}=\vec{0}$ $\Rightarrow \begin{pmatrix} -\Gamma & 1 & 1 \\ 1 & -\Gamma & 1 \end{pmatrix} \begin{pmatrix} q_1 \\ q_2 \\ q_3 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \Rightarrow \text{ we must hove } \det(A - rI) = 0.$ det (A-rI) = -13+31+2=0. Simple eigenv. Double eigenvalue. To find the eigenveictor ?" (1) $\begin{pmatrix}
-2 & 1 & 1 & | & 9_1 & | & 2 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & | & 0 & |$ Two of 91, 92, 93 can be chosen or bitrarily and the third is determined. $Q_1 = C_1$ $Q_2 = C_2$ $Q_2 = C_2$ $Q_1 = C_1 \begin{pmatrix} C_1 \\ C_2 \\ -C_1 - C_2 \end{pmatrix} = C_1 \begin{pmatrix} 0 \\ -1 \end{pmatrix} + C_2 \begin{pmatrix} 0 \\ 1 \\ -1 \end{pmatrix}$ For ex. by choosing $c_1=1$, $c_2=0$ we obtain the eigenvector $\frac{3}{2}^{(2)}=\begin{pmatrix} 0\\ -1 \end{pmatrix}$.

Any non sero multiple of c_2 but a second independent eigenvector. found by moking another choice of co and co soy completed.

So a fundamental set of soli is the following

So a fundamental set of soli is the following

So a fundamental set of soli is the following

Soli is the following Gen. Soli is $\vec{x} = c_1(1)e^{2t} + c_2(0)\vec{e}^t + c_3(0)\vec{e}^t$.

Supposing the string is cristurbed from its equilibrium with O velocity, we must have

$$u(x_10) = f(x)$$
 $u_{\xi}(x_10) = 0$; $0 \leqslant x \leqslant L$ (5)

We use the method of sep. of uar.

$$M(x,E) = X(x)T(E)$$

Taking the der. and sub. into (1) $\frac{x^n}{x} = \frac{1}{x^2} \frac{T'' = -7,7}{7}$

$$\int X'' + \eta X = 0$$

$$\int T'' + \alpha^2 \eta T = 0$$
(6)

By the boundary cond. we get. X(0)=0, X(L)=0From the second initial cond. gives X(x)T'(0)=0 =>T'(0)=0

So, X"+ 2x=0, X(0)=0, X(2)=0 gives.

$$\eta_{n} = \frac{n^{2} \pi^{2}}{J^{2}}, \quad \chi_{n}(x) \quad N \quad \sin\left(\frac{n\pi x}{J}\right), \quad n = 1, 2, ---$$

$$\eta_{n} = \frac{n^{2} \pi^{2}}{J^{2}}, \quad \chi_{n}(x) \quad \nu \sin\left(\frac{n\pi x}{J}\right), \quad n = 1,2,3.$$

$$T'' + \alpha^{2} \eta T = 0 \Rightarrow T'' + \frac{n^{2} \pi^{2} \kappa^{2} \text{Sale.co.uk}}{\sqrt{1016} \text{Sale.co.uk}}$$

$$\frac{1}{\sqrt{1016}} = 0 \Rightarrow \sqrt{1016} = 0 \Rightarrow \sqrt{101$$

Preview Truing of 94

So using T'(0)=0 => k2=0.

Thus, Un(x,t) = Sin(nTx) cos(nTat), n=1,2,3,---

To sotisfy the remaining initial cond. u(x,0)=f(x), we'll a $M(x,t) = \sum_{n=1}^{\infty} c_n u_n(x,t) = \sum_{n=1}^{\infty} c_n sin(\frac{n\pi x}{L}) cos(\frac{n\pi xt}{L})(1)$

The cond. u(x,0)=f(x) requires.

$$u(x,0) = \sum_{n=1}^{\infty} c_n sin\left(\frac{n\pi x}{L}\right) = f(x)$$

So coefficients on must be exefficients of fourier sine ser. (8)

$$cn = \frac{2}{L} \int_{0}^{L} f(x) \sin\left(\frac{n\pi x}{L}\right) dx$$
. (8)

X11+ m2X=0 -> 12+m2=0 - 1/2 = Fip

X(x)= (1,cus(px)+cz,sin(px) the general

X/(x)= cz psos (px)

Since czzo, pazo we get COS (MT) = 0

$$\mathcal{M} = \left(\frac{2n-1}{2}\right) \left(n = 1, 2...\right)$$

$$Cos\left[\left(2n-1/2\right)\frac{iT}{2}\right]=0$$

$$\lambda_n = \mu_n^2 = \left(\frac{2n-1}{2}\right)^2$$
 $n = 1, 2 \dots$ eigenvolues

$$X_n(x) = \sin(\mu nx) = \sin(\frac{2n-1}{2})x$$
 eigen functions

$$X_{\parallel}^{-}$$
 0 \rightarrow $X_{||}$ $X_{||}$ $X_{||}$ $X_{||}$

X(0)=0 -1 C(=0 X(x)= Cz.X

For $\lambda=0$ we have the trivial solution X(x)=0

T(t) = - Kipnsin(pnt) + kz fn cos(pnt)

T(0) = 0 + Kzm=0 -16z=0 Ki arb.

=
$$\cos\left(\left(\frac{2n-1}{2}\right)\right)$$
 . $\sin\left(\left(\frac{2n-1}{2}\right)x\right)$ finctionen to (solutions

The series solution is:

$$\mathcal{U}(x,t) = \sum_{n=1}^{\infty} c_n u_n(x,t) = \sum_{n=1}^{\infty} c_n cos(u_nt) c_n(u_n x)$$

$$u(x_0) = \sin\left(\frac{x}{2}\right) - 3\sin\left(\frac{3x}{2}\right)$$

$$\frac{\infty}{E} \operatorname{Cn} \operatorname{sin} \left(\frac{2n-1}{2} \right) \times = \operatorname{sin} \left(\frac{1}{2} \right) - \operatorname{Jsin} \left(\frac{3x}{2} \right)$$

eigenvolves $\Rightarrow (1=1 \ | (2=-30.4)^{-3} \text{ on } (\frac{3}{2})$ eigen finchions $| (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times | (3\pm 1) \times |$